K1 NyY—2EOBME

HBEA
INA —

Ny

5%H,0/CH:CN #>#d]

Ny EmH

7o) PIvhS L

GC/MS

#B5 C
INKD —

Ny AR

7€~ =) )LV

GPC

ZoyIhS A

GC/MS

BB
INE —

[~ A

Hexane/CH-CN 4> fid]

7o) PIAS L

GC/MS

HEAD
INE —

[P+t Em

A/H

Hexane/CH:CN 5>

Zoyouns )

GC/MS
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(2-1 FERESEVEID ST (HEAA)

Bt U=aksl 20g(B—(LB§IC 13 ~ZEBD IV Q K(A~FH ki) 2 i)
V voby—refEREA(RLug)

v 7 bh=FV))V50ml

V k&S 14

Vo OEBE 205

vV E0OEE 2500rpm, 10 5

Vo FREIE soml o7& k= M UV EINZ BRI EE

v A~FH 20, 10ml T
hrZ bV INVE
v IB#E(5-10m1)
Vo 10%i846F b U D LEATE 25ml
V AFY L o25ml X 2 THIHY
XY U JE
V  #EK Na.SO. Tk
v %5 (ca.5ml)
V TERMNZPUNBEEIAFYVICER
6%2K70 U IINVH S L 1.5
vV ~¥Y 50ml TG
V 05%7% h= b Uu/AFHL 50ml TiHEH
VA IR
VB
vV AFY LT 1ml
GC/MS JxE

N
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H2-2 EEEEOSHIE(HEB)

5 50g (350mhiE;LE)
DEP-d4, DBP-d4, DEHP-d4,DnOP-d4:B & 8 &
2ug/m ImiEM
|
{ FZEF=FJJL 150m
ﬁ(*)ﬂz
=043 BE(3000rpm, 5min)
I
138 (300mI%iEO—k)
} A4 30ml

ﬂﬁﬂF(SﬁJ‘Fﬂ'ﬂE&’))
FErZFJILE (500mi3-BT5X0)

|
BERSE

| PHEM=MIALEFRICKRE
200mi% & —k

|  10%%&iEK 30ml

: ~A%H 100ml
R (G9MIRES)

|
ﬂFé7|K WKERBML 20

AFH 2 30mITHRLVAH

Elliﬁﬁ (200mlF+< B I5X0)

A‘i’-"i‘.‘zfﬁml%@

7!2:1 DO IWATL(1g, AFH10mITHS) (225mIB R

*ét?: 4% FEr/AEH 10ml
;*éblu,’&

gilt;-,s\%ol-hﬁﬁ

’\T"f.‘/'C“i miER

ER(GC/MS)
DEP,DPrP(EDEP-d4 CHIIE
DBP,DPeP,DHP,BBP,DcHP3DBP-d4 GHi IE
DEHADEHPI{ZDEHP-d4 GHi1E
DOP,DiOP,DINP[EDOP-d4 CHl IE
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E2-3 pRMERRE 0ok (I8BRC)

Bt L7281k 30 g
vV 7 RFZFYIV150ml
v BEFFA X (Ultraturax, 143)
VoL aEE 3000rpm,S 43,
VORI SOml O£ k= b V)VT 10 7> BB Lo

=20
Vv BiE10 gz, BETFE AN 10 2REE
T NZMUINE

VOB, BRERCERTF)V30ml ZMABHEL, DEOMK NazSOs Tk
Vo AR, EME
V 20%7 b v ruaxdy 3aml iZER
v 3000mpm T 5 2&E 0 i
Gel Permeation Chromatography
V  (Shodex EV2000 2cm x 40cm, 848 20% 7 & b 2 /> 7 0 ~*xY >, #iiE 4ml/min)

Vv 2ml ZiEA (20g $HY)

DNP 72 5 DEP & CO4H| (13~23 4)
Voo1-2ml IR

70U PRAT L (1g, 50%7+t b 2/~NFH U AFY L& 10ml THF)
VvV 5%7% b 2/~FY T 10ml TEEH

B
VOB, 2ml ~NF Y UITBR
GC/MS HlIE

DEP, DPrP id DEP-d4 CHi1E

DBP, DPeP, DHexP {& DBP-d4 CTHiIE
BBP iZ BBP-d4 THIIE

DEHA, DcHP, DEHP (¥ DEHP-d4 CHiIE
DOP X DOP-d4 CHlilE

DiOP, DiNP (& DNP-d4 THilk
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B2-4 RRERBOXVIEWNER D)

¥—{b L7=&kl 50g

y 7% 100mi

Vo RES 54

V V527 4NVE—T3R

VBRI 100ml O 7 b2 BN Z BRI ER
A

Vo R - BEEE

Vv 10%81E/K 50ml

v EEBRTF)V/~FH 2 (1:2) 50ml X 2 CHIH
HHgE

¥ #E7K Na:SO. 10g THéA

V VS X74 NV —T5i8
2 i

V-3

Vo AFY Y 10ml 1B

V AFYMTE M= YL 20ml X 3 THIH
7EbrZFUINE

VOB BEBREEREYD 1g L LoBEIT 1g 4

vV AFH 2 10ml

VoA - B

VoNEY Y Iml R
6% ZK7 1) )NV H T A(1g+NaSOs 1g)

Vo ANFY Y 50ml THER

vV 05%7+E€ b= MU IV/AFY L 50ml THEH
A

VoA - e

V' ANFY T 2ml
GC/MS AlE
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K3 Z7¥NWVBIZAFNVDGC/MS (TIC) yavbhisAa

d4-DPeP
k3 T2 BGTA030)
DHexP
d4-DPeP, DHexP : 1 ¢ g/ml
P _DBP ~——Z5EA3IH
Te PrE—DBE—ppep =
DEP DEHA
BBP DC HP
DOP
! — Ju A ,
ie 18 20 y 22 24 26 28 ao 3z 34
DEP, DPeP, DBP, DPrP, DEHP, DOP : 1 u« g/ml
BBP, DEHA, DcHP : 2 u g/ml
e d4-DOP -

DIOP
/JWA'\A/\__J

Lodin._

DINP

DiOP, DiNP : 5 ¢ g/ml
d4-DOP : 1 u g/ml

22

24
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30

32 34




=& 1

BRIERH A RICE T HRET S VED B ER SR TR

paXiid=i
3D

_TOD

pox;id=Fa
20 LoD

¥ iid=kK]
SD_| LOD H-13)

31.3

29.2

43.6

40.6

28.9] 5.4

1.2

1.1] 1.4

1.3

1.2 0{u.

ZHB4
3D

FE]

18.1

273

10.0

12.1

179

130

3.9

1.5

0.0

FE

oLl
SD

32.9

15.7}

10.2

6.1]

4.8

BRIETZ27(n=3-5)DHF1{E, IRERE
(SD)RUBHEBR(LOD)XEHDDORE
[CBREL - {B%F(he/g) TRLT-.

BEISUIBRESNEGELLDIT,
GC/MSRFEDOS/NEREPOREIC
BREL-EZE(g/g TRLT.

0.1

5.3

9.6

121

4.1

2.1 0

0.9
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£2 E—SWEOREIFVIVERVEHRSE
BEHA HAIB n=3 BRIC n=3 #BEAD  n=3
w15 | sb |Lob| | sb | LoD | ¥y | sD | LoD | ¥ty | SD | LOD
DEP 10] ool 5] 219] 36| 76| 30 24 | |
DPrP
DBP 138 30 245 | 66| 583 | 154 154
DPeP |
DHexP
DcHP _
DEHP | 379 173 347| 18] 272| 68} 204
DOP 20| 35 :
BBP 05| © 417] 12]
DiOP '
DiNP
DEHA 37| 10 596| 55| 136 12
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£ 3 NI—DFMENREEBRER

| H3RIA #EIB Beac #BD

& | EUREG) Fo | GEURE®G) [F0 r@ﬂz%(%) B | EUIRE®)

BRE _|Ft9|SD |RE (T (SD |RE [T (SD |RE [Fi(SD
DEP 250f 90f 6] 250 88| 2| 200| 108 6] 250 4
DPrP 125| 103| 5] 125 83| 2| 200| 115] 10| 25 3
DBP 1250 970 7| 1250 96{ 5] 2000 93] 6] 1250 4
DPeP 125 71 125| sof 1] 200, 99f 6] 25 5
DHexP 250 2] 2500 72 1] 200 87 7] 250 6
DcHP 250 8] 250f 69| 3] 200] 105] 10] 250 9
DEHP 1250 15] 1250| 104] 4] 2000| 126] 44] 1250 11
DOP 250 14] 250 105 7] 400[ 85| 1] 250 7
BBP 250 6] 250] 81] 4] 200 101] 14] 250 6
DiOP 2000 8] 2000/ 108] 9] 2000 123] 11] 500 9
DiNP 2000 13} 2000 110] 20] 2000 89| 5] 250 14
DEHA 250 10} 250] 37) 23] 1000] 59| 150 250| 88| 9

RMREE ng/e
H#EIA B, Cldd-ATEIUREZMIELT.
' | A THIELLZOMES DOEYRE
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¥HIRE a0
5¢ 015 0SS Ge TooLt [osSt osit |s ocl [0t | vH3a
0§ 0 0 052 0 0 g 0 0 dNIQ
Ge ! 0 0 05¢C 10 0 0 g 0 0 do'a
Ge 86 |0CL 42 fo6  [oor [o0F |S oL |ort dag
77 0 [0 G2 o [0 [0 y 0o o d0a
0tC ocvl |0cpl €5 loczz |00tz [0See [616 08G1 [0I¥l | dH3d
el 0 0 Ge 0 0 g 0 0 dHea
74 0 0 ol 0 0 G 0 0 d%eHd
g 0 0 G 0 0 G 0 0 d°dd
e 0 0 002 0 0 68 08z |oce dad
€ 0 0 3 0 0 g 0 0 4da
£ 0 ¥ VR 0 0 0 g L 0 dad
a|mE| © | @ | © al|&HEE|®© | @ | © ool |mkx | ®©® | @ | ©
aEl# aEgwt VESH

FHREO—KNNY S © E
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® 5 FmEIR RS R (H8ARID)
EURE (%) EURE (%)
F3 e BEX AY b

BMBRE] F19 | sd | T | sd | F | sd RNERE) F1 | sd
DEP 10 90.2 24 87.7 5.3 90.4 9.1 2501 953 3.7
DPrP 1 97.6 24 91.3 3.1 100.1 10.2 251 989 6.9
DBP 50 710 2.3 889 3.1 875 10.1 12501 84.6 0.7
DPeP 1 80.6 253 83.2 9.6 85.7 179 25f 88.2] 14.1
DHexP 10 0924 18.7 914 10.9 87.6 10.4 250] 889 15.7
DcHP 10 71.1 2.9 88.1 2.5 84.8 9.1 250] 794 4.6
DEHP 501 102.8 43.2 99.7 15.0 79.6 29.9 1250} 559 7.9
DOP 10 71.2 431 102.1 17.2 81.6 11.2 2501 679 43
BBP 10 90.0 3.3] 104.8 15.0 88.5 9.4 250] 81.3 2.5
DiOP 20 96.5 6.2 90.9 52 82.7 14.6 500] 854] 210
DiNP 10 93.7 3.6] 1072 17.7 88.7 12.6 250] 85.3 14.6
DEHA 10 65.0 48] 102.6 119 924 10.2 250] 828} 220
HEMEE ng/g
sd: {RERE
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pig—|

£ 6 (1)

REFERER

B35

S 44No.

A
4

D |>

O |>>

DEP

0

DPrpP

DBP

DPeP

DHexP

| lolo]ol=

DcHP

DEHP

DoP

BBP

DiOP

DiNP

DEHA

#5

#R3 4

5 ¥INo.

DEP

DPrP

DBP

DPeP

DHexP

DcHP

DEHP

DOP

BBP

DiOP

DiNP

DEHA

|
LELfEpryrerprfejr)ele

Fin—|

#RBES A

X ¥iNo.

w

-

S [e)

Sle

~
|0

DEP

DPrP

DBP

o]l |o

o] |o

l ol ! |o

IO'O

o]l o
l o] |o

DPeP

DHexP

DcHP

DEHP

250

250

580

1220

DOP

(=}

(=)

o

BBP

(=]

[=]

(=)

8.4

DioP

DiNP

DEHA
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#5

£ 6 (2)

REREER

ki de sk

D

2R d4No.

N O

D
3

o |0

LOD

DEP

1

DPrP

0.1

DBP

1

DPeP

0.2

DHexP

1

DcHP

(=l Ll (=1 =] [=] [=]

=123 (=} (=] [=2]=]

(=2 (=1 [=][=][=][=]

[=3 =1 (=11 (=2]=]

Olojo|w|ojo

0.5

DEHP

270

190

94

190

270

40

DOP

[=]

BBP

(28]

DioP

(=]

DiNP

42

£INJGTIN —

DEHA

110

PRRE

358 %

>

S #4No.

Wi

I

—
(=]
o

DEP

DPrP

— | —t

ele

DBP

-—

DPeP

DHexP

IOOOO

IOOCDO

DcHP

ciee

DEHP

DoP

BBP

DiOP

DiNP

DEHA

—_—
[ [ =30 (2R (2R =R (R =0 el (= A E=)

ole|o|»|e

(21

Ak

X HNo.

DEP

DPrP

DBP

DPeP

DHexP

DcHP

DEHP

DOP

BBP

DiOP

DiNP

DEHA
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# 6 (3) REREER
B
@& | c|clclcD|D|]c]|D
BR¥No. [ 1t | 2 [ 3] 4 11 2 [ron|Lop
[oEp of of o o of ofos] 1
DPrP —~ -] = -] o o]o.3|oi
DBP ol of of o o of 3] 7
DPeP —| —I =1 =] ol olo4]loo2
DHexP -] —] =] =] o] o]oa4 1
DcHP —| —] =] =] o of 1los
DEHP 271 19] 12] 23] o o] 6 40
DOP of] o] of o o o 1] 1
BBP of] o of of o 3lo3 2
DiOP —] —| =] =] o o] 200 5
DiNP —| =] =1 =] of ol 25/ 2
DEHA —| = = =] o s 71| 4
NS —
g (Al Al A D[D|[DJA]D
BENo. | 1 | 2 | 3] 1 | 2] 3 Jroo]|Lop
DEP T of] of of 5] 3
DPrP of of of o o of 5 3
DBP of 1200 o]l of o] o] 89 211
DPeP of o o o o of 5 5
DHexP of of of o o of 5l 25
DcHP of ol o o o of 5| 13
DEHP —| =] =1 =] —[ =] 519] 230
DOP —| -] - ol of o] 11 25
BBP of 51 71 of of 51 5] 25
DiOP —| - — of o o] 5| 125
DiNP —| - - of of ol 5| 50
DEHA —| =] =1 60| 170] 140] 5| 25
4F
B4 | Bl BBjclclc]B]|C
HENo. | 1 | 2 | 3| 1 | 2| 3 JLop|Lop
DEP 6] o o 1.8/ 1.2] olo4f 03
DPyP ol o o —| -] —]o.1]o03
DBP ol 6] o ol 100] 33] 6/ 30
DPeP o]l o o —| —] —]o2fo4
DHexP ol of o —| -] —]o4]o4
DcHP ol ol o —| -1 =1 1l 1
IpEHP o]l 10] o 15 110] 48] 4] 6
[pop ol ol o of o o 1] 1
IBBP o] 3] 2 of o o] 2 0.3
Diop ol o o —| —| —1 10| 20
[DiNP 0| o]l o — =] =] 10] 25
[DEHA o] 3] 0 - =] =1 2f 7
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£6 (4)

REFAELER

bide k]

C

A ENo.

N>

2

N0

LOD

LOD

LOD

DEP

A
3
1

.3

0.7

DPrP

0

0.1

DBP

100

57

26

A

DPeP

-

0.2

DHexP

—

0.4

DcHP

—

DEHP

67

52

13

DoP

0

BBP

0

DiOP

(4%
lOOIOOOOOO

l ool lole|o

10

DiNP

10

DEHA

(=l =1 (=2 =2 [=d (=2 =0 [=R =1 [=][=][=)

(=} =2 (==l ===l (=] [=} =] [=]]=)

I[N =

45

#2595

a1 ¥No.

@0

LOD

LOD

DEP

0.3

DPrP

0.1

0.3

DBP

11

30

DPeP

| {o] ! |o

0.2

0.4

DHexP

0.4

0.4

DcHP

DEHP

13

bopP

BBP

0.3

DiOP

10

20

DiNP

10

25

IDEHA

b

LA ik

P

R ¥INo.

N

()

(O

LOD

LOD

DEP

DPrP

DBP

—_

DPeP

DHexP

DcHP

DEHP

=N

DOP

BBP

DiOP

'ONIOOOOOO

| | S
<ol |lololela|o]o

DiNP

N

IDEHA

(=] [=1 (=1 [=1l= =1 =2 =1 (=] (=2 [=2 =]

(4]
Olojo|ojo|v|olo|lojo|o]|o

SN ==l [=1d (=R =1 (=1 - (=1[=]

ok ok |t |k

Lipojnine|—
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£ 6 (5) RIEFEEESR

i

#pg |A|lA|lA[B|B|Blclcjc|D|[D]A|B|CI|D
BMEINo. | 1 ] 2] 3] 1 ] 2] 3f1[2]3] 1] 2]LopjLopjLOD|LOD
DEP of of of —-| —-I —lo707 03 o o 4/ 0.6/ 03 1
DPrP of of o —-| -l -l -l -1 -1 o o 1]o0.1]03f0.1
DBP 41] 49] 23] —| —| —| 54 o 41] o] o] 5/ 25 30 7
DPeP of o o —{ =l - -1 = =1 o o 102 0402
DHexP o o o -] - =t - = =] o o] 1 0.4/ 04 1
DcHP of o o - - - -l =t =1 o of 1 1 1]05
[DEHP —| -1 -1 =t =1 =1 12} 71| 26| o] of 12 17 6| 40
DoP o 1f o —| =1 = o o of o of 1] 1 1f 1
BBP o, o o —| —| —| o of o o o 1 403 2
DiOP - -1 =1 - =1 =1 =1 = =] o] of 1| 10] 20 5
DiNP - -1 =1 = =l = = =l =] o] o i 10| 25| 2
DEHA - -1 -1 =1 =1 =1 =[ =[ =] of of 1 71 4
EI3NAES

% [ Bl Blclclc]B]|C

EBNo. | 1 ] 2 ] 1] 2 | 3 JLop]LOD

DEP 05| 0 of of o]o.4fo.3

DPrP ol ol -] —[ —-lo.1]o0.3

DBP 18 | 18 of o o] sl 47

DPeP ol o] -1 —| —]o0.2 0.4

DHexP o] o] —| —| —]o0.4 0.4

DcHP ol o] —| = =1 1] 1

DEHP 120 [550 | 110/ 28| 36] 20| 18

DoP 0] o o o o 1] 1

BBP 3] 6 0f o o o3

DiOP o]l o —| -— 10] 20

DiNP 0l of —| =] =] 10] 25

DEHA ol o] =] —| =] 2| 4

LYok

w2 (Al A|lA[D[ID|DJA]|D

BfNo. [ 1 [ 2 [ 3] 1 ] 2] 3 JLod[LoD

DEP 0] o o o o o017 1

DPrP 0] ol o o o o007 0.1

DBP 18] 31] 38 of o of 11| 7

DPeP of ol o o o 00702

DHexP - =] - 0 0 0] 0.7 1

DcHP -1 -1 = of 0/ 007 05

DEHP - -1 - 0| 56| 44] 25| 40

DOP o i of _of ofo7 1

BBP of ol of o] 12| 13] 5] 2

DiOP e of o o007 5

DiNP -1 -1 = of o o017 2

DEHA - -1 = of o olo7 4
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£ 6 (6) RIEREER

AED

% | B BBl clclclclIB]|C

BENo. [ 1] 2] 3] 1 2 | 3] 4 ]LoD]|LOD

DEP 0.4 ol o 1.2/ 0.6/ 0.3] 0.3] 0.4 0.3

DPrP 0] of o ~| =] =] —J]o.1l 0.3

DBP 10] 0] 30 88f o ol o] 8] 47

DPeP 0| 0 O —{ =] —={ —~]o.2{o04

DHexP o] o] o —| =] =] —]o.4f 0.4

DcHP o] o] o - =1 = =] 1] 1

{DEHP 25| 0] 0 o] ol o| 23 20f 18

[pop o] o] o of of of o 1] 1

IsBP ol o] o o] o] o] o 1] o0.3

DioP 0] o] o —{ =] —={ =] 0] 20

DiNP 0l ol o0 —| =] —| —] 10} 25

DEHA o] o] o —1 =T =T = 2| 4

WAZC

@ | A|A|A| DI DID|JA]|D

HENo. | 1 ][ 2] 3 1 2 | 3 [rop|{Lop

|DEP 4.3] 0] 0.7 0] 1.6/ 0] 0.7 1

DPrP of o o o/l o o]lo.7]o0.1

DBP 45 58] 270 29| 16] 12 11| 7

DPeP ol ol of 34 1| o]lo.7 0.2

DHexP —_ - —_ 0 0 01 0.7 1

DcHP —| - - o o o0fo.7 05

DEHP —| —| —| 62] 62 o} 23] 40

DOP - - - ol o olo7 1

BBP of o o 5 of 150 51 2

DiOP —| - = ol o oo07 5

DiNP —| — - ol ol oo7 2

DEHA —| =] —1 40] 29 5107 4

L LI=ES

s | A AlAjclclc|[D|DJA|C]|D
BENo. [ 1 [ 2] 3] 1 2 [ 37 11 2 [Loo|Lop|LoD
DEP 1.6/ of 1.0l 1.4/ 0.7/ 0.7 ol o] 1] 0.3 1
DPrP ol o o -—| - ol of 1] 0.3 o1
DBP 64| 38/ 110] 550 of ol o o] 31] 471 7
DPeP ol o o —| =] =] of ol 104 02
DHexP —| =] =1 =1 = =1 of of 104 1
DcHP o/l o of —| —| = of o il 1fo.5
DEHP 110] 53] 49| 68 0] 26] of 49] 20] 18] 40
DOP of o o0 oo of o o of 1| 1 1
BBP o] 1] 3 ol o 22 of of 1] 03 2
DiOP -] -1 =l =] =] =] of o 1] 2] 5
DiNP — —{ =1 = =] =1 of of 1] 251 2
DEHA — =1 = -1 =1 =1 of of 1] 4] 4
LOD : #RHB - F=a%L O : BRHBRUT

MEABIEEHAEL H n =3 DFIE
WA, C, DIFRRHEKLEL n=20F1Y{E
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